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(Test No. 05)
Test Name : COMPUTER SCIENCE

Time : 90 minutes Maximumn ;100 marks

Answer ALL questions.

Each question carries ONE mark.

SECTION — A
1. C programs are converted into machine language with the help of
(a) An Editor (b) Acompiler
() An operating system (d) None of the above

2. A C vaniable eannot start with.
(a) An alphabet
(b} A number

(¢) A special symbol other that undEIE'ﬂIDI‘E.
(d) Both (b) and (c)

3. The binary equivalent of 5.375
(a) 101.011 - . - (b) 111.000
(¢) 101.111 | | (d) None of the above

4. The range of int type constant |
(a) 00000 to 65535 (b) -=32768 to +32767
(c) —65535 to 65535 (d) —-32768to0

5. In Clanguage value of an expression 14% 4 =

(a) 1 (b) 2
() 3 (d 4
6. Variables that are declared, but not initialized, contain
(a) Blank spaces (b) Zero
(c¢) Garbage value (d) None of these

7. The name of a variable 1s known as its
(a) Identifiers . (b) Constant
(¢) Data type ; (d) . Base |

3 .
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8,  The brain of any computer system is
(a) ALU (b) Memur}f
(¢ CPU (d) Control Unit
8. The Number of Bits in ASCII code
(@ 6 b) T
(c) 8 (d) 4
- 10. Which of the following is the 1's complement of 107?
(a) 01 (b) 110
() 11 _ (d) 10
11. Which of the following special symbol allowed in a variable name?
(a) * (asterisk) | (b) ' |{pipeline)
(c) - (hyphen) | (d) - (underscore)
12. AE{:JII stands for
(a) American standard code for information interchange
(b) All-purpose scientific code for information interchange
(¢) American security code for information interchange
(d) American scientific code for information interchange
13. By default a real number is treated as a |
(a) Float J (b) Double
() Long double - (dy Far double
14. Compiler is .
(a) Device (b) Software
(¢) Communication channel | (d) None of the above
15. A pointer is
(a) A keyword used to create variables
(b) A variable that stores address of an instruction
(¢) A variable that stores address of other variable
(d) - All the above
16. The fastest memory is N 5
(a) Hard Disk (b) Virtual Memory
(¢) Cache Memory ~(d) Magnetic tape
(Test No. 05) | il ' *
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17. How will you print \n on the screen?
(a) printf("\n"); ~(b) echo™\n";
(c) printf("n"): (d) printf("™\\n");

18. Which of the following is the correct ﬂrder of evaluation for the below expres-
slon z=x+y*z/4%2-17

() */%+~= ) =*/%+-
© I*%—+= @) *%/—+=

19. Which of the following is allowed in a C Arithmetic instrurtion?

@ [) : (b) {}
© () (d) Noneof the above |

20. In switch statement, each case instance value must be

(a) Constant (b) ' Variable
(c) Special Symbol (d)  Nane of the above

21. What is the work of break keyword?
(a) Halt execution of program
(b) Restart execution of program
(c) Exit from loop or switch statement
(d) None of the above

22. Which one of the following sentences is true?

(a) The body of a while loop is executed at least once
(b) The body of a do ... while loop is executed at least once

(c) The body of a do ... while loop is executed zero or more times
(d) A for loop can never be used in place of a while loop

23. The output of the fﬂliawmg program

Void main ()
{
int a=.250:
Printf(“%d”,a);
}
(a) = | (b) 250
(c) 0000 (d) Garbage value
24. If the two strings are identical, then stremp() function returns
(a) =1 . b) 1
(¢) O (d) None of the above

5 : i ‘est No. 05
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95. Which of the following function is more appropriate for reading in a multi-
word string?

(a) printf() - If_b} Scanf( )
() gets() | | (d) puts()

26. Which of the following function is used to find the first occurrence of a given
string in another string?

(a) strchr() | (b) strrchr()
(c) strstr() (d) strnset()

27. The default return type of main()
(a) int {b} void
(¢) char ' (d) float

28. Scope of the variable of automatic storage class is limited to the
(a) Program in which it is defined
(b) Block in which it is defined
(¢) Loop in which it is defined
(d) Funcﬁun in which it 18 defined

29. DBooting of the system means
(a) Loading the operating system
fh} Running the application program
(c) | Physically r:llir:i-:ing'me computer
(d) Dismissing the computer

30. Scope of the variable 1s |
(a) The region over which the variable declared has effect
(b) - The region where the function has effect
(¢) The return type of the variable |
(d) None of the above

Test No. 05 s
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SECTION - B3

d1. What will be output if you will execute following ¢ code”
#include<stdio.h>

int main( )
{ for GNULL;)
Printf ("equestion bank");
return 0;
}
(a) C (b) Bank .
(e) Cquestionbank : (d) Infinite loop

d2. What 1s the right way to access valus of structure variable book{ price, page}?
(a) printf("%d%d", book.price,book.page);
(b) printf("%d%d", price.book, page.book);
(¢) . printf("%d%d", price::book, page::book): -
(d} printf("%d%d", price->book, page->book):

33. The value of EOF is ;

(a) 1 (b) ~.v0'
(c) Infinity (d) -1

34. The preprocessor directive #include is required if
(a) Console output is used {b) Console input is used
(c) Both (a) and (b) ' (c) _Nnne of these

35. Declaration of the function in n::alling program is known as

- {(a) Prototype (b) Passing argument

(c) Reference (d) None of the above

36. How many bytes are occupied by near, far and huge pointers (DOS)?
(a) near=2 far=4 huge=4 (b) near=4far=8 huge=8 .
(¢) near=2 far=4 huge=8 (d) near=4far=4 huge=8

37. In C, if you pass an array as an argument to a function, what aciually gets
passed?

(a) Value of the function

(b) Value of elements in array
{c) DBase address of the array .
(d) Addreasof the last element of array

38. What ie the similarity between a structure, union and enumeration?

(a) Al of them let you define new values

(b)  All of them let you define new data types
(c)  All of them let you define new pointers

(d) All of them let you define new structures
7 | . ~ (Test No. 05)

www.eenadupratibha.net



Downloaded From WWW'k”QW@?H‘F@@H%Ml‘ﬁW‘ﬂQH‘{\PH@FS'”et

39. What is right way to Initialization ﬂrra;;r?
(a) int num [6] ={2, 4, 12,5, 45,5}; (b) intn{}={2, 4, 12, 5, 45, 5};
(¢) intn {6} =12, 4, 12}; (d) int n(6) = {2, 4, 12, 5, 45, 5};
40, Bit wise OR operator is £
(a) Logical Operator (b) Binary Operator
(¢)  Arithmetic Operator (d) ° None of the Above
41. What is the final value of x when the code int x; for (x=0; x<10;x++) { } is
run? | :
(a) 10 - b)) 9
{c) O (d 1
42. What will be the output of the program?
int main ()
{
char str 1[20] = "Hello",str2[20]="World";
printf("%s\n",strepy(str2,streat(strl,str2))),
return 0;
} '
(a) Hello , (b)) World
(c) Hello World (d) WorldHello
43. Input/output function prototypes and macros are defined in which header file?
(a) econio.h (b} stdlib.h
(¢) stdioh | (d) dos.h
44. What will the function rewind( ) do?
(a) Reposition the file pointer to a character reverse
(b) Reposition the file pointer stream to end of file -
(c) Reposition the file pointer to begining of that line
(d) Reposition the file pointer to begining of file.
45. What is stderr? " | =
(a) Standard error (b) Standard error code
(c) - Standard error streams. (d) Standard error definitions
46. The maximum combined length of the command-line arguments including the
spaces between adjacent arguments 1s
(a) . 128 characters
(b) 256 characters
(c) 67 characters
(d) It may vary from one opérating system to another
(Test No. 05) 8
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47. What do the '¢' and 'v' in argv stands for? |
(a) 'c' means argument control 'v' means argument vector
(b) ‘¢’ means argument count 'v' means argument vertex
(c} 'c' means argument count 'v' means argument vector
(d) ‘c' means argument configuration 'v' means argument visibility '

48. What fun-ctiun should be used to free the memory allocated by r:aﬂn;:[ ) ?
(a) dealloc() | (b) malloc(variable_name,0)
(c) free() (d}) memalloc(variable name, 0)

49. To round the variable, x, float to integer correct way to do so is:
(a) y=(int)(x+0.5) | () y=(float)(x+0.5)
(¢) inty=(int)(x +0.5) (d) Nomneof the above

50. What does the following declaration mean int (*ptr) [10]?
(a) ptris pointer to integer
(b) ptris pointer to array of 10 integer
(c) ptris array of 10 elements
(d) None of the abave

51. What does the following declaration signify?
char**argv;
(a) argvis a pointer to pointer -
(b) argvis a pointer to a char pointer
(c) argvis a function pointer
(d) argvisa member of function pointer

22. In GIHHEUEIE‘EI'E’ represents: '
(a) Digit (b) Integer

(¢) Character ~ (d) String
23, *ptr++ equivalent to
(a) ptr+t (b) ‘*ptr
(c): ++Tpir (d) None of the above
54. In which stage the following code #include<sidio.h> gets replaced by the con-
tents of the file stdio.h . |
(a) During editing (b) During linking
(c) During execution (d) During preprocessing

4 -. I (Test No. 05)
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55. In which order do the following gets evaluated:
1. Relational 2. Arithmetic 3. l.ogical 4, Assignment
(a) 2134 . (by. 1234
(0 4321 d)y 3214
56. The function that change the state of count object called
(n) Descriptor (h) Manipulator
(¢) Definition (1) None of the above -
57. The equivalent expression of p — value
(a) | (*p).value - (b) . p.val
(c) | *(*p).val (d) - None of the above
58. What will be output if you will mmpilu. and execute the following c code?
#include<stdio.h> |
int main( ){
int x; |
for (x =1;x < =b;x++);
printf("%d",x);
return 0;}
@ 4 ®) 5
© 6 | (d) Complication Error
59. Declare the following statement?
| "An array of three pointers to chars"
(a) char*ptr[3](); (b) char *ptr[3];
(¢) char (*ptr(3](); . (d) char **ptr[3];
60. Recursive functions are executed in a?
(a) . First In First Out Order (b) Load Balancing
(c) Parallel Fashion (d) Last In First Out Order
(Test No. 05) B |
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61.

62

63.

4.

65.

6.

67.

68.

69.

70.

SECTION -C
Number of binary trees formed with D nodes are
(n) 30 (b) 36
{::]‘ 108 (d) 42,
The postfix expression for *+ab- ¢ d is?
(a) ab+cd-* (b) abed+-—*
(c) ab+ed*- ' (d) ab+-—cd*

A data structure where element can be added or removed at cither ned but not
in the middle? |

() Queue . (b) Stack

(c) Degueue : (d) Linked-list
The situation when in a linked list START=NULL js”
(a) Underflow (b) Overflow
(c) Stack-full (d) Stack-null

Which of the following operations is pErfurmeﬂ n;ﬂre etficiently by doubly
linked list than by singly linked list? '
(a) Deleting a node whose location in given

(b) Searching of an unsorted list for a given item

(c) Inverting a node after the node with given location
(d) Traversing a list to process each node

Which one of the following is not 4 linear data structure?
(a) Array (b) Binary Tree:
() Queue (d) Stack

A queue has configuration g, b, ¢, d. To get configuration d, ¢, b, a. One needs a
Minimum of

(a) 2 deletions and 3 additions (b} 3 deletions and 2 additiunﬂ.
(¢) 3 deletions and 3 additions (d) 3 deletions and 4 additions
Number of possible ordered trees with 3 nodes A, B, C is

(a) 16 | (b) 12

(c) 6 | (d 10

Average successful search time for sequential search on ‘n’ item is

(a) n/2 . (b) (n-1)/2

(c) “(n+2)/2 (d) log (n)+1

A hil:larjr tree that has n leaf nodes. The number of nodes of degree 2 in this
free1s

(a) logen (b) n-1

(¢) n | . - " (d) 2

1 & “ (Test No. 05)
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71. Four algorithms Al, A2, A3, A4 solves a problem with order log(n), log log(n),
n log(n), n. Which is best algorithm?
(a) Al (b) A2
(c) A3 (d) A4
72. Number of swapping operations need to sort numbers 8,22,7,9,31,19,5,13 in
ascending order using bubble sort.
(a) 11 | by 12
(c) 13 (d) 14
73. Representation of data structure in memory is known as
(a) Recursive (b) Abstract data type
(c) Storage Structure (d) File structure
74. The minimum number of edges in a connected cyclic graph on n vertices is
(a) n-1 . (b) n
(c) n+l (d) None of the above
75. The data structure required to check whether an expression contains balanced
parenthesis is
{(a) Stack (b} ' Queue
(c) Tree (d)  Array
| 76. A database is a collection of .
(a) Information ‘ (b) Records
(¢) Data (d) None
77. ‘The software designed to assist in maintaining and utilizing large collection of
data
(a) DBMS (b) SQL
(c) RDMS (d) All of the above
78. SQL stands for .
(a) Standard Query Language (b) Structured Query Language
(¢) System Query Language (d) Software Query Language
79, DBMS allows many users to access data concurrently for
| (a) Concurrency and Robustness
(b) Data Analysis
(¢) Ffiiciency and Scalability |
(d) DB design and Application Development
80. Most database management system today are based on the model
(a) Data model (b) Relational data model
(c)’ Semantic data model (d) None
(Test No. 05) 12
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1.

82.

83.

84,

85.

86.

87,

88.

89,

A description of data in terms of a data model is called a

(a) Attribute (b) Schema

(c) Field (d) None

The conceptual schema sometimes called T

(a) Logical schema (b) Physical schema

(¢) Schema | . (d) None

An object in the real world that is distinguishable from other objects
(a) Entity (b) Attributes

() Entity sets (d) None

DBMS is often useful to identify a collection of entities. Such a collection is
called

(a) Entity (b) Attributes
(c) Entity sets (d) None

An entity is described using a set of
(a) Entity (b} Attributes
(c) Entity se_t.s | (d) . None

An assoclation among two or more enlities is a

(a) Relationship ~{b) Relationship Set
(c) Entity Set Lo (d) None

Insert, Delete operations fall into which category
(a) DML (b) DDL
(¢ DCL (d) Integrity Constraints

Which of the following is applicable for Creation, Deletion and Modification of
Definitions for tables

(a) DML (b) DDL
(c) Integrity constraints (d) None
RDBMS stands for

(a) Rational Database Management System

(b) Relational Database Management System
(¢) - Rapid Database Management System
(d) None of the above

Which of the following fum::tiﬂn is used to find aggregation?
(a) AVG (b) Distinct
ey SUM (d) DIV

www.eenadfipratibha.net (Test No. 05)
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891, Cross product symbol indicates. |
(a) R-5 (b) R*S
& RnNS (d) None
02, Which of the following indicates set difference?
‘ (a) RnS (b ER-S
(c) R*S (d) None
03. The column of a table is referred to as the
(a) Tuple (b) Attribute
() Entity (d) Degree
94. Inan E-R diagram ellipse represent .
(a) Entity sets
~ (b) Relationship among entity sets
(c) Attributes
(d) - Link between attributes and entity sets
095. E-R modeling technique 1s
(a) Top down Approach (b) FPottom Up Approach
(¢) Left Right Approach (d) Noné
- 96. Which Normal form is considered adequate for RDBMS design
(a) 2NF (b) 3 NF
(c) 4NF (d)  BCNF
‘97, If a relation schema i1s in BCNF then it 13 also in
(a) 1NF (b) 2 NF
(c) .3NF | (d) All the above
98. Choose the correct statement
{a) An alternative is a candidate key, that is not a primary key
(b) An alternative is a primary key, that is not a candidate key
(¢) An alternative keyis a candidate key, that is also a primary key
(d) None of the above
99, 3 NFisin adequate when
(a) Has multiple eandidate keys
(b) Has candidate keys that are composite
(¢) Both (a) and (b)
(d) None |
100. Let R be a relation schema, F be the set of FDs given to hold over U, X be a -
subset of the attributes of R, and A be an attribute of it R. R 18 in third nurmal
form if, for every FD X-> a in I' which one of the following statements holds
good _
(a) A £ X Lo, i1t is atnval FD, or
(b) X is a superkey, or
(¢) - A is part of some key fnr R
(d) All the above
(Test No. 05) 14
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